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fder : () wft v T@ =ifew)
Instructions : Attempt all questions.
(i) I F afe sEvas 8, d fa=i svan vt & geEy Hife
Use diagrams or flow diagrams if it is necessary.
(iii) W FH 23 W 26 7% ® ¥ § Al fapey fau w2
In Question Nos. 23“to 26, internal options are given.
(iv) S Y § W99 &6 Fd G99 W 9w fafa

Write correct question no. in your answer copy while solving the

question.

(v) w-u= ¥ fee fw orer I fed

Write the answer of the question paper as instructed.
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Frdor :(mwm@swmaﬂﬂﬂw%rﬁ%w“'
S| (3R F SR w1 w1 ATH)
«<tions. Each
Instruction : (A) Question Nos. 1 to 5§ are very short answer type questions. Bt

' imi swer 18
question carries | mark. (Maximum word-hmit of answ¢

1 word / 1 sentence)

-1 mﬁmmmmﬁmmaﬁwﬁwmm%? (1]

In human. what is called surgical removal of vas deferens?

-2 Afafafea e gansia @ wra gl @ ? (1]
From which micro-organism penicillin is obtained?

wzg Ha AR afEreE B FEd € 7 [1]

/ What is human genome project called?

UH-4  FH-q affefaes 43 watfue vt g g ? it

Which ecosystem is the most stable?
S

w5 CFCs %1 70 Tm fafaw (1]
Write full name of CFCs.

frder

: (F) W FEH 6 ¥ 10 9% oY 3T W § | IAF W W 2 3% ’EiI
T (IW it sfuran w=-dm 30 I ¥)

Instruction : (B) Question Nos. 6 to 10 are short answer ty]:;e questions. Each

question carries 2 marks. (Maximum word-limit of answer is

30 words)
WA gy d (2]
What is polyembryony?
/
gva-7  ESH-HIT S 6w Eifa 2]
Explain house-keeping genes.
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WYAL8  Wa H B w1 e grpfn wifta o & A wnes giea fafan) (14122}
Write any fwo names of pathogens that cause Helminthic discases in

human.

g s e we £ 2]

What is called Genetics?

W—Wmmmmm%ﬁamfﬂﬁaﬂt [1+1=2]

Write any two objects to develop genetically modified crop.

Fder : (F) ¥ HHIH 11 W 22 F oY Iu0G Y ¥ | TAF U W 3 3 (A
¥ 1 (IW Ft sifvmaa w=g-drr 50 =L ®)

Instruction : (C) Question Nos. 11 to 22 are short answer type questions. Each

question carries 3 marks. (Maximum word-limit of answer is
50 words)

uvnA1 T wE P § R AT si fefae [1+1+1=3]

Write any three differences between Pollination and Fertilization.

uyTY12 o fE @ g, T P @ fasen T W S e B, @i 2 3]

Removal of gonads cannot be considered as a contraceptive option, why”

yy-13 FeAfFd Fwed 2 [3]
What is cal[ed Codon?

WRA1G  FT O F T AT FRO F guEE [1+1+1=3]

Explain any three causes of Cancer diseases.

Wor1s  Iuewd % 3RM gesia A w1 e w0 ¥, e g fag ) (3]

Give example to prove that microbes release gases during metabolism.
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_ [141+1=3]
WeR-16 T WO & T @R & g T e fafEa
Writc any three rcasons for the destruction of wildlife.
D s : : [1+1+]1=3]
UPH-17 30 U Iy § 18 v o fafa
Write any three differences between Producer and Consumer.
UYT-18  UHHH g I Sfaa IgeT0 g FHABT | [1+2=3]
Explain the monohybrid cross with suitable example.
U¥H-197 U& W IO 991 TF Ui e St & faare g I Gl @t
S St gt ? Fae oM@ fea g wuEE) (3]
What will be the hereditary of the offspring when a normal male
marries with colour-blind carrier female? Explain it with only ray
diagram.
WA-200 B AW THAE T e framit ferfiay 3]
Write a short note on stem cell technique.
w21 T 5T 1 Frifia w0 a9 B B swnt @ fafiag [Vax6=3]
Write any six measures to control soil pollution.
s
-22 forsdt oiviifers & o wifa afa W@ Hr
uv FE i ff | (1+1+123]

Write any fhree major causes of species losses in a geographical

regions.
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[5]
. (=) Uy HHIH 23 o ITE YA £ 1 39 Y W 4 3 siEfen €1 (3H A

fueray wee-|ET1 75 I8 §)

Instruction : (D) Question No. 23 is long answer type question. This question carries

U¥-23

et

4 marks. (Maximum word-limit of answer is 75 words)

qRelat g & 2 3 SgeT 1 IeA R el § feran S € 2 #ie
it wro fafaa | [1+3=4]
What are transgenic animals? Why are those animals being produced?

Write any three reasons.

Haar

OR

st aifirifre w1 & 2 goet e sfem 3 S @ wea fafa
What is Genetic Engineering? Write its any three significances in

human life.

. (%) U HHE 24 | 26 7% o ITE TE & | TAH Y W S 3F IE{

¥ | (IWM F HAfysan w=-FH 150 VI ®)

Instruction : (E) Question Nos. 24 to 26 are long answer type questions. Each question

uy1-24

carries 5 marks. (Maximum word-limit of answer is /50 words)

Zai 3w e § gaea w B grw STl w1 g dfed
TR | | [1x5=5]
Write any-five uses of microorganisms with example in our daily

life.

NM41A
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[6]
3reraT

OR

FN A9 UE g § e fga et @1 teweie g0 ¥ F e
weiifad 3% w3 & 2 afe &1, 41 =3 3ud HY o o9 & A= ghal ¢ 7 [1H45]
Do you think that friends can influence one to take alcohol/drugs? If

yes, how may one protect himself / herself from such an influence’

% WTEfTE YUY ®i a1 H A 3@ At e unT O
yq@ #r fafau [2+3=5]
(37) U IR

(@) wfaya et
(@) HTE® HifERd

Draw a labelled sketch of a typical embryo sac and write one main

function of the following :
(a) Eggcell
(b) Antipodal cells

(¢) Synergids

OR

T IRqeE AT i T 1 A6 3@ SR o 9 w6
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7]
Draw a labelled sketeh of a mature pollen grain and write one main
function of the following :
(a) Exine

() Germ pore

(c) Generative cell

HE-yIfe 31 & ? 32T F AF A g WAL F F, DA
TR & TRV WY 3§ H1 Iy F47 ?

What is co-dominance? How many types of phenotype and genotype
will be formed in F, generation? Explain the example with the help

of checker board.

Hegar
OR

37qoi gt 1 8 2 IS8T S =S ArS g1 §HFAs i F, gl o faea
W & TR WY 9 ST W& 47 |

What is incomplete dominance? How many types of phenotype :lf'ld
genotype will be formed in F, generation? Explain the example with

the help of checker board.

[2+3=5]

NM-41A
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